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17. TA313/3YY»AC - anfaoy»asAlasy

1999A. N3YA3&»watAlasyasu -ART»E »Y 3 NBYA3&»13T3Y — 1166 N3YA3ICY
- AS13A3BYY»f/20plasn® PP UB=TaTAC, »AC T =6=ii1aiAl=Y N=f6»iC ~ eAafiw ¢ Y=E=n=nasAlasy/1998A
N3U»U3T -AB1I3ABYY»AC USYSTA YT 3het ; 19-4T (4-A* 020303(CY, 15-At -[460=3T3Y):
ASLI3A3YY»AC AYIN3YasR 03Y3TCO 11-A U3A%3ICY T»YWAAYST3Y »Y, 31-A
T3AST03(CY T»YrAaYST3Y, 173-A: 03030=3(CY, 893-A* -[a50=3T3Y " 58-At UBYT3T3Y

-ASLI3A3YY»f »Y:

P3YA=3ICY -A=1=A=3YY»AC u=Y3TY AéW W»é=3TY»iC

MASIIASYY»AC U= - 1999A. AW I »E3TY»fAC
Y3TA, AV130»YA
1997 | 1998 | 1999 USf%3IcY TEAST03(CY | u=0=- | -1460=- | U=YT1=-
DYTARAYST3Y| T»>YTRAYST3Y | gsicy | T3y =Y

°Of3Y 33 33 30 1 - 29 - -
2/3.3[47 115 | 115 | 114 1 3 - 107 3
Y
2AZA3Y 101 | 101 | 103 1 2 7 90 3
2A03 TG 117 | 116 | 115 1 2 12 94 6
M»0=3fA0asYCh | 143 143 138 1 4 16 111 6
E&éC 152 145 146 1 5 21 106 13
Tarsiu 87 84 80 1 2 19 56 2
PCAZT 143 | 145 | 144 1 5 20 112 6
élasyco 170 | 163 | 163 1 3 38 112 9
1346 0an 52 52 52 1 2 2 44 3
T4 90 88 81 1 3 9 61 7
AY13U»YA 1203 | 1185 | 1166 11 31 173 893 58

A p3ACY ¢ AYI»E N3YAR&»T3T3Y -A313A3YY»ACY: T30UA (8&363ATT31
-A3T3Ya0Ala0Y) T3%U»E ; 15.8 UEY., 4fC 15.2%-A u3ACY ; AYT»E NBYAS&»T3T3Y
-AS1I3A3YY»ACY:

P3VYAS&»TAAIBY -AS13A3YY»A4iU 1999A. SRE3T»E 3057 U=3hAt: 2RE31A0Y»AC
28.9%-AT3U884 U 3A1 adY»Y p3A0fA= - &lY ThA&0AIAGY, ARAYOCO 410-A T3U 46.4%-A a6Y»Y
N2BU=&336E3Y U=6Y3-Cr3T3Y ThAAtAIAIY: @CcCY USEY3-Cwr3T3Y TRAAGAIAGY 46Y»Y
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71.1%-A T3U 2173 U3fi1, 4f4AY6Co 1020-A T30 46.9%-A aiY»Y NSU3A3TIEE3Y
US8Y3-Cr3T3Y ThAatAlady:
P3YAS&» 1 3T3Y 3 -A313A3YY»AC AYA»A6a0Y»AC UCCCY NSx3E&IUA T3%UxE ¢ 7.4
YSEAfL 313 8.9-C 1CU=6, AYA»f6a0Y»AC UCGCY AYA»A6=3YaAlasYA: 32.1 (1998A.234.0),
-G UCGCY RAc3Y=éaoAlasyA: 0.3 (1998A.: 0.3):

IA=13A3YY»AC SRE=W3YuY»AC NCUYST3Y 6406=3YCBY»MA
TAGSIGY | AVA»f6a0- | TS6U0A, | D3x3E4&U- [ 2BESTS40-| YASYECE* 45Y»Y
yavA, | Y»icAi=- N3, Yoiigu=- | Y»ACAT=- | N3USa3T3e-
= U3Y3TA V3TA, (3% | U3Y3TA E3Y ThA4bAlasY
D3YAS&»T3T3Y | 6847.0 65015 2087.9 480.8 398 128
o3y 1834.3 90490 1314.2 863.2 298 175
28=.2747TY 802.9 50030 876.6 611.1 181 94
ERETENY 962.1 53182 932.7 397.9 178 129
202 1Ch 1351.4 92390 2079.6 1609.6 218 165
M»03A0AGYCU 1183.4 98855 1788.5 1051.9 327 115
£aéC 1959.1 76611 1317.1 981.9 359 127
Tar3i 938.5 59286 1031.6 542.6 149 90
PCAST 1483.5 108848 1716.0 1425.7 399 139
elasycu 1330.2 75966 1444.2 934.3 299 141
13046 Oan 407.1 18095 367.3 312.8 82 48
T=7am 858.6 41993 859.9 654.3 169 79
AY1=U»YA 19958.1 830761 15815.6 9866.1 3057 1430
P3YA3ICY -A313fi3YY»AC -afnlasY»adAl3Y v»63T3i30 6a663YCRY»iiA
“Y3T346A13Y AYL- | AVA»fi6a0Y»Ac UG- A\:(A?ﬁééé\'(’»ﬁgAUngY ffiug UGeCY
-ATU3Y TaTaeA | cCY N3x3E45UA AYA»fiG3YatAladYA | Bic=Y3¢eatAladvA
1998 | 1999 | 1998 | 1999 1998 1999 1998 | 1999
o3y 54 72 10.2 95 215 14.5 0.7 07
2[=3.3[47TY 26.7 29.8 13.7 12.2 19.9 17.5 11 11
ERETEYY 18.0 17.1 74 75 16.5 17.5 09 09
2/U=TCA 325 28.7 16.6 17.4 22.7 225 17 15
M»03A0AGYCU 38.3 35.5 10.6 10.6 17.9 18.1 15 15
EaéC 23.8 19.4 13.1 12.8 16.9 17.2 08 07
Tar3i 23.2 18.0 13.1 91 20.5 17.4 16 11
PCA=T 33.3 30.0 11.0 13.1 14.2 15.7 11 11
elasycu 51.7 46.3 11.9 12.3 19.6 19.0 12 11
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3 3146 04 27.0 26.1 17.2 173 20.2 20.3 09 09
TITam 26.0 26.8 13.0 155 18.6 20.0 08 10
AV13U»VA 214 20.1 11.8 122 18.7 17.9 11 10

1999A. PD &»W3T3Y plade»Co -A31I3ASYY»ACY NS T3061»E , 179.0 UEY. 130
YSEant T3AT3 207.6 UEY. 1i=3UC 1CU=20: @»T -Ai=13a3YC N3RTaT plase» r=(CY UCGCY
NS T=3046UY»AA T3%U»E »Y 153.1 N3, 1/30:

TRUSICY yaY1A, UEY. UC=T4f

1999 | 20.0 |
1998 | 19.0 |

1997 | 202

1996 | 208 |

1995 | 209 |

1994 | 710 |

1993 | 21.2 |

1990 | 21.7 |

17 18 19 20 21 22

=g3Y=TA, N=%. U=h1

T
=1
[=})
o
=<
¥

=]
)
i
-\

780

1990 1993 1994 1995 1996 1997 1998 1999

82



83

DD @46C=E=T=Y TiCx=TA
1999A.



